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QUESTION 1

Which option is required when using the Applied Patches Advanced Search feature in OAM?
A. Patch ID

B. Language

C. Server Type

D. Applications System Name

E. Product that owns the patch

F. Applied From Date and To Date

G. APPL_TOP where the patches were applied

Correct Answer: D

QUESTION 2

What is the default value of ?
A. APPS_

B. APPS_

C.

D. _

E. APPS_

Correct Answer: D

QUESTION 3

As an Applications DBA, you are tasked with cloning a User Acceptance Test System (UAT) to Test System on July 28.
You ran preclone on database tier on July 23 itself. Between July 23 and July 28, some changes have happened to the
database. Identify three scenarios in which you would have to run preclone again. (Choose three.)

A. A database was restarted

B. A tablespace was dropped.

C. A custom schema was dropped.

D. A database data file was resized.

E. A data file was added to the database.
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Correct Answer: BCE

QUESTION 4

John and Peter are working for the same project and handling the same environment called TEST. John receives a
request to apply a big patch on the TEST environment. He stops all services and starts applying this patch. At the time
when d-portion of the patch is going on, Peter gets a request to recompile all forms of the GL schema. Peter is not
aware that John is applying the patch, so he starts adadmin in the other session. What will happen in this case?

A. As soon as Peter executes adadmin, the adpatch session gets killed.

B. As soon as Peter executes adadmin, both adpatch and adadmin sessions get killed.

C. As soon as Peter executes adadmin, he gets the error You must be in Maintenance Mode to run adadmin.

D. As soon as Peter executes adadmin, he gets the error "You dont have permissions to execute adadmin as adpatch is
running.”

E. As soon as Peter executes adadmin and passes all relevant parameters required by adadmin to generate all GL
forms, adpatch will run as it was running and adadmin will indicate that "the FND_INSTALL_PROCESSES table created
by AutoPatch already exists."

Correct Answer: E

QUESTION 5

You want to run preclone on database tier. You logged in to the databasenode and realized that the appsutil directory is
missing. Identify the command you use to re-create appsultil.zip, so that the appsutil directory can be re-created.

A. perl /binfadmkdbutil.pl

B. perl /binfadmkappsutil.pl

C. perl /appl/binfadmkappsutil.pl
D. perl /appl/binfadmkappsutil.pl

Correct Answer: B

QUESTION 6

When you execute adutconf.sgl as the apps database user, it creates a file called adutconf.Ist. Identify the configuration
information that will be captured in adutconf.Ist. (Choose four.)

A. Product installation status
B. Rollback segment information
C. Version of Oracle Applications

D. Status of Multiorg enabled or not
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E. Location and size of database data files
F. Versions of all ORACLE_HOMEs used by Oracle Applications R12

Correct Answer: ABCD

QUESTION 7

The adovars.env file specifies the location of different types of files, by using various environment variables. Identify
three parameters that are part of this environment file. (Choose three.)

A. FND_TOP
B. OAH_TOP
C.JRE_TOP

D. JAVA_TOP

E. CLASSPATH

F. OA_JAVA TOP

G. SH_LIBRARY_PATH

Correct Answer: BDE

QUESTION 8

Which two statements are correct about Rapid Clone? (Choose two.)

A. Rapid Clone does not take care of oralnventory.

B. Rapid Clone updates only site-level profile options.

C. Rapid Clone itself does not start the application services automatically on the node.

D. Rapid Clone automatically creates a control file and brings up the database on the database tier.
E. Rapid Clone does not configure the source application printer configuration in the target system.

Correct Answer: BD

QUESTION 9

What are the three benefits of the Oracle Applications Tablespace Model? (Choose three.)
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A. takes advantage of manual segment management

B. simplifies maintenance and recovery by using fewer tablespaces

C. uses locally managed tablespaces, and enables more control over unused space

D. decreases block-packing compared to the older model, increasing the overall number of buffer gets

E. makes best use of the restricted number of raw devices available in Real Application Clusters (RAC) andother
environments

Correct Answer: BCE

QUESTION 10

Identify the situations in which you would select a multi-node installation. (Choose all that apply.)

A. Data security is a concern and the application serves users on the Internet.

B. The number of concurrent requests may use up to 80% of the CPU on an all-time basis.

C. The information technology (IT) team is setting up a system to show users a specific functionality usage.

D. The CIO received a request from the users for an environment where the users can perform small test runs.

Correct Answer:. AB

QUESTION 11

What are the prerequisites (minimum version) at the operating system level before cloning an environment in Oracle
Applications Release 12?

A. tar version 4.x (Minimum) and zip version 3 (Minimum)

B. perl version 5.x (Minimum) and zip version 2.3 (Minimum)

C. gzip version 2.5 (Minimum) and tar version 5.0 (Minimum)

D. gunzip version 5.x (Minimum) and perl version 5.x (Minimum)

E. perl version 2.3 (Minimum) , zip version 5.x (Minimum), and gunzip version 5.x (Minimum)

Correct Answer: B

QUESTION 12

Where can you find the generated report file after running the Validate APPS schema task in the Oracle Applications
R12 E-Business Suite setup?

A. /admin/.Ist
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B. /admin/out/.Ist
C. /admin/out/.Ist
D. /fadmin//out/.Ist
E. /fadmin//out/.Ist

Correct Answer: E

QUESTION 13

Praveen performed a single-node installation of Oracle Applications R12 on a Linux server. After a few days, he got one
more server with the HP operating system. To use resources of both the servers, he decided to move the database tier
to the new HP server. Identify the correct sequence of steps that he needs to perform to successfully move the
database tier.

1.

Start up the database and listener.

2.

Shut down only application tier services.

3.

Export the database from the Linux server by using the exp utility.

4,

Install fresh 10g software on the HP server.

5.

Create an empty database on the HP server.

6.

Import data into empty database on HP server using the imp utility.

7.

Copy only the $ORACLE_HOME database from the Linux server to the HP server.

8.

Run AutoConfig on the database tier after changing the $CONTEXT_FILE.

9.

Shut down all services of Oracle Applications R12.

10.
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Enable database for AutoConfig.

11.

Copy the data files and $ORACLE_HOME database from the Linux server to the HP server.
12.

Run AutoConfig on the application tier after changing the SCONTEXT_FILE.

A. 11,1, 10,8, 12

B.9,7,3,6,1,12,8

C.9,11,1,8,10,12

D.4,1,11,6,1, 8, 12

E.2,4,5,3,6, 10, 8, 12

Correct Answer: E

QUESTION 14

In Oracle Applications Release 12, you want to set up your X Display. After changing the value of the DISPLAY variable
in the Context files of the database and application tiers, which adautocfg.sh files do you execute for these changes to
take effect? (Choose two.)

A. /admin/scripts/adautocfg.sh

B. /admin/scripts/adautocfg.sh

C. /admin/scripts/adautocfg.sh

D. /admin/scripts//adautocfg.sh

E. /appsutil/scripts//adautocfg.sh

F. /appsutil/scripts//adautocfg.sh

Correct Answer: AF

QUESTION 15

The worker shows the Running or Restarted status, but the process is not really running. Which are the two corrective
actions that you would perform to restart a worker? (Choose two.)

A. Tell the worker to quit.
B. Tell the worker to shut down.

C. Restart a worker on the current machine.
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D. Tell the manager that a worker has failed in its job.
E. Tell the manager that a worker acknowledges quit.

Correct Answer: CD
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